Country:

N R
* 4
(/

EfEHERIY: 4 REEE

AE AR EE Y

F—EH REVHER —RILRRERIRE (20 5)

BE R EEYHIR G IR (16 93)
BTk 36 77
IRFfl Ry 90 5



EXAMINATION # 4: Ecology Laboratory

TASK 1

1
BT E A A R

R IR IR AR A C s EEBIAR S B

EEEH
FTAREZEWESEERE R
A E T REY RS (S08) S —RE LR L

57 2B SIYRIEURTE SRR A E 22 R

H—Hor - HYHE R ZS(ERRERIRE (20 57)
VO-HEREYREIE A D SR R Y T
A BRI B R R =

SRFEHERI(E R 25°C , b 20°C )BEAT LRSI e (35 E

HIRFEHERIAE 75% LA L » SMIHVERZEZRIIE+ 2R Hoagland =&k

BRI EEE Y R ST M Y B 8 MM E TR (E RN,

iR R T AR R R E 1 5 0, 1,2, 4or 8 mM -




EXAMINATION # 4: Ecology Laboratory TASK 1

BAREERREE LSRR > HEDARE FERL -
whAE A A bhom R RIIFZE/IE 350 =i 700 ppm >
HARA AR R AT EE AT > SofliPrE PHY CO2 - HMIARTERT CORE

TEYTEME 20 4 BREURIMAY TR EfEbE T R T -

TASKS
e F o 2IREEF —PREYIE BRI T PRSI TR el

HAHREETRE Ry 8 mM ~ CO2 ST &y 350 ppm = 24l H EAEECHE |

PA.TLL/NE © (EIZLEHER HOIVRE - 1EA % LIEE IREH VB ?
A BT
B. Y
C. R
D. EEE Y
E. WY

PATL2 /& © $tHEEE - [(EAHERNMERR(EFERESIEELE R )
SOMHEEE R H T SRR - B R -

AR LR EE R E N (mm) -

Hh Sk & EH

1
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TASK 1

PATL3 /NE © R— R THEREHAEY 2 R ERMESR -

S—EENARETHRAE

B 4wk (mm)FEE (mm)FET T
Value a
1 112 72
afH
2 107 71 Value b
3 104 68 Value ¢
4 99 64 Value d
5 86 57 Value e
Mean “¥-15 Value f Value g Value h

An estimate of the area of each leaf in Table 1, can be obtained by using the equation:

Area (cm?) = [0.0079 X length (mm) X width (mm)] - 0.252

TRV AT _ EERY ARG EIES -

sHEFR P a G h EGECE mm = em?/NEBELUT —fir) > WEAE

h{E/E s a 2 e {HIVFT -

KL

PATL.A4 /N * FIHFIER(FE) Ao PHEEER (9 H) - DURHy ARG R P mE -

MBI Cem® /NERE T — i A AR L -



EXAMINATION # 4: Ecology Laboratory TASK 1

PATLS /N - CERIWAEA [F R R TR0
NE AT I 2

A. ZEME

B. [EAMHE > N ABIRHE A

C. {[EAHMEE - N RatHEA =

D. {EAMHE > [N RREmEE =R

E. (EAHE - NAER BN

F. EAMHE - N RBERHEZ AR A

PA.T1.6 /NE © R RTEYAERIIE CO, R 8 i Atdiny BRI R e B I~ - it 20 24
SCERE T ey e I 2 S BE A

T AEWITE COp R R TRE N BRI T - 1L iy e e 2 1

TEHIE -
CO, R (ppm)
T L

350 700
0 19.8 17.2
1 33.0 31.6
2 44.4 45.6
4 50.2 51.5
8 39.5 53.2

FEAEREIR T > DY IRm iR i B R - AE Wi CO2 L E T 73 BlfEE] -

which of the following statement(s) is/are most likely to be correct?



EXAMINATION # 4: Ecology Laboratory TASK 1

FRIZHE - 2R S — (&R R - heEYy 2
| AERIHE CO2 R LU AN BRBEREAE 0-2 mM 2 ] > R ZEI S BN

%E o
Il {£700 ppm CO; | > EfHELRE T 4 MM - B RERHIEE T
RN

I GEREER © £ 350 ppm CO; | EHELRERE 4 MM 5 E 8 mM » 15472

= SRR
A. lonly
B. Ilonly

C. land Il only
D. landllonly

E. I lland Il

P4.T1.7 to PA.T1.10 /NEESE T % 3a k& 3b

7% 3a J¢ 3b SRR MEYIEAE 350 K 700 ppm CO; FHYFLR £RFENVEE -
A ELROH FH I RRC M AN (5 3a) L EM A (R 3b)sta AR S AR 22 -
(] t-test Al - CimBRIAAYERIH b tE SRR AENT 8%k A & B -

a5 FHVEREHYITESR 3b & 1H » SR EIBECIEA > IRufENERAR Y (HElSRE
<5

w

HESEERMVEELE -



EXAMINATION # 4: Ecology Laboratory

TASK 1

%% 3a: 1 350 ppm k2 700 ppm CO, NMER ZAEVIEEE - IR CHE AT EIAGET

TEARIT 350 ppm 700 ppm
CO;, (X) CO,
Leaf mass 2 % (X = X)* | Leaf mass Y? Y (Y = Y)?
(mg) (X)#E = (mg) (Y) HEE
1 448 619 383161 104 10816
2 428 593 351649 78 6084
3 415 484 234256 -31 961
4 386 479 229441 -36 1296
5 370 400 160000 -115 13225
sum (X, Z(X?), etc.)44 2 2575 1358507 0 32382
Mean (X,Y, D)4 515.1
(EX)°In 6630625
SD = [(Z(X?) - (ZX))/n)/(n-1)]°° 90.0

SPERE

S = [(Z(X-X)* + Z(Y-Y))/(ny+n,-2)]°°

t= (X-Y)/(S[2/(n+ny)]>%)
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%2 3b: £ 350 ppm fz 700 ppm CO, MR ZIEVIVEEE » DECETEASTRIASGET

r Leaf mass (mg) & | D = (Y-X) D-D (D -D)?
R 350 ppm | 700 ppm
co, ) | €O (Y)
1 448 619
2 428 593
3 415 484
4 386 479
5 370 400
Sum (ZX;, etc.)4 & 2575
Mean (X, Y, D)5 515.1

SPERE

SD = ([(Z(D-D)*)/(n-1)] *°)/(n"°)

t=(D- (X(D-D)) Sp

n, number of individuals in sample 15 A%

S, sum of variates SE[4E S

t, Student’s t

D, difference between pairs of variates fit ¥ &8 AV Z=1(E

D, mean of differences between pairs of variates it ¥t 81y 75(H > 745

df, degrees of freedom H &

P, probability of a significant difference &35 7= FL AV



EXAMINATION # 4: Ecology Laboratory TASK 1

SD, Standard deviation fEXE 7

PATL7 /N © 1£ 350 ppm COz i N 2 -PHI3EEE » DIJERCEM AL » SRR

2= WIEFE mg /NG N (7 > B FEAE R (1 point)

PAT1.8 /N * FIIF] t-test BTfGHITER Ryfl - 46REFHARIESE 350 ppm CO, | Z 3 EE

1700 ppm CO; TATS ZIRRCEM A Mmln (3 Sa)ll R A #E A5 -

A. cheater than 0.99
B. 0.951t0 0.99

C. 0.05t0 0.10

D. 0.01 to 0.05

E. Less than 0.01

PAT1.8 /[N © A t-test FT{GHYRRR Rofal - 4ARE R EAE 350 ppm CO, N ZHEE

1700 ppm CO, T ATie ZACHIR AR R (R )M A#IE £ -

A. cheater than 0.99
B. 0.951t0 0.99

C. 0.05t0 0.10

D: 0.01 to 0.05

E. Less than 0.01

P4.T1.10 /NE © T HI|WFELfM FHE 2

A.  WiEREREEPEE A ERE SRR = R

B. WitgkRZ PIEERNEREIEZAUAE - BR AR

C. Wiaky PHEEERNVEEEZFUAE - SRR 2= %



EXAMINATION # 4: Ecology Laboratory TASK 1

D. Witgkp 2 PIEZROVEEETEZATLIARE - A AR AT R
E. Fitele s VIEAZRAEEE T FTDIAE - BN ARG R 2 7 7=

==

P4.T1.11 to P4.T1.12 /NEEEZR 4 VBB A
T4 FERITE COL R R MEIH BRI 2 B8N MR ZIEYIHIEE

Nitrate Leaf mass (mg)&#
(mM)
S | [cO,] 350 ppm [CO.] 700 ppm
0 118 103
1 214 221
2 310 365
4 401 514
8 316 532

FELEEAR b > DA PR 2 S B B A R P i B B R ([
EhdclE sy LIS R ERIE - 2. RN RRERE
PATL11 /NG © MR B (AR R BRERE - B ESHH SR s (5
ZEAR AR ARG [ HE 2

| ERBREIRE 0-2 mM Zf - I8 h i B BRI B2 SR iy COL RS 3
HHCFIYTEE - SR IEMHR -
I COJRENIERTERHRBEEL - RATREAERTAHBRENRE ~N(O0and 8

mM) > BEE SRR Y 2 P -

10



EXAMINATION # 4: Ecology Laboratory TASK 1

I ££ 700 ppm CO & T - GHEREERIE 4 22 8 mM Z ity » HERfirfaife 2 3

R

A. lonly

B. lllonly

C. landllonly

D. landlll only

E. I, landlll

(1 point)

11
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TASK 1

P4.T1.12 /NGR © T HIMREL R 2 IEREHY ?

FERHBRERIE 0 22 2 mM Z ] - BEM R R S B A A2 Z2 SR Y CO2IRE 2

Y

=

AT TUET: CO BTN FTASH AR » TR R

&
FERH RIS 4 22 8 MM ZfH] - MG EREEEE COL T IR EAYRE

2 ZHEMHE -

A | only

B. Il only

C. [ only

D. I and 111 only
E. I, Iand I11

12



EXAMINATION # 4: Ecology Laboratory TASK 2

FEr - MEKEEYHIREEA

v

B

e TEETEEY) - mLALEROH - 3 B KU EY) B Tt %0 -
LA ARG R HAREE

DI ERSHY K EE R E -

FE RS IEE & IR PR E T R R G539 B NECGR TED) 2%

SAEAEIRF AR A - MR AR HIR R

HEER Y R R A T Ak B E et sk B Rl EE ST -

LU R e b AR & A RAVEPI AT SR E R 2 55

FERZEI AR T - AR EE—(HEG - & DA =

LU P E AR S HUB AR AR -

TASKS

£ PAT21 2 PAT25 /N8 - Bij7 A F (N 05 1) Kom LA (4R (D)
SERBEAF N O TALHR A2 -

IRAE R T— Bl T AU AR - FEEAE YRR A R ARG AT (S T 0 EE
HUBEHT (1) 220G, (2) S GREEL - Q) EE S =5 -

7fEIR A EAESCHE |

P e et ) #5549 50 mm)
SHRGE— RS » TR SIS BRI + DURAES 5 HIERER -
BRI T e IR -

13
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AR RNENEESRG  (RPITEEE > BT REEE R U R
s R A TERE -
BEME R - IREVEEAEER IO > FIRHRIESER F—EE 5 -

ERTREREGRE - (ST E R -
HEBRER 175 ~ 2L HMIHNRE -
[ hsk E IR 2E HOKIE > BE EEIs R UKAYmI AL > R HIE -

H TS HE R+ B A Y E B4R _EFrbEIELA -
EELPHEAARE H AR L - ERABORN = (T RGEEES) - 5T E
OEH9EEZ ot
(Q)F M7 E E o LIRS R 5 /KB (B By 0.05) » A Ff8% A -
Q)EE R AE - BIF G LKA & H o EE(EL(E)
()R LALHY P& B o ED
(5) T LALAT & 1 7y EEAVEEAREZ R 5 LKA (R /5 0.05) » A F[f 8k A -
(6) 8 FAREY - BIURGTALAY(E /KA & EH o EE(ERE)
s L E A A H 4R (22 5)
53 i W ek DA B SR B AT A B
BRI EE BT IAINE E 0 o th 2 SR AR 0.25 » IEIFRIAT/EZ 224K
EHATTYEE -
PAT2.1/N# * BRITEAIRIE & H o thZ EERAREU L 0.25 - (RFFZEEE SRR 7
(50r6) (2 points)
PAT22/N# * FiEEN P EDE( 2EE) (2 points)

14



EXAMINATION # 4: Ecology Laboratory TASK 2
PAT2.3/N&E : R 4L ZN I E S EE( 2EArE) (2 points)

PAT2.4 /\N&E : FEBEENEIE L2 B 07K ( 2/ NECEE T~ —Ai7) (2 points)
PA.T2.5 /\N& © i TALEEZN P H L 2B 0/KE( 2/ 8RN —f) (2 points)

15
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PAT2.6 /[ed © THIPLERAUE (RHERY 2
N =2 S N U S 2N e
I m LALHY PR 2 (5 Ok e B A g i ek b
N EREARINS - BB EGERIW ALK - WAE G - HAE
M BIENF BT AT - B LALAERF R RREE
IV BEEARRINES - B RAREEIW LA » RRA AT (SRR T
&L/

Vo DUERSREIR e = A58

A. lonly

B. Vonly

C. lland IV

D. lland 111

E. I, llland IV (1 point)

16



EXAMINATION # 4: Ecology Laboratory TASK 2
=5 FNfow TADRA 2 BaEmEE Tt
Lemna &35 Azolla Jii T4L

Sample | Area | Mean | A® A (A | SD CL [CV [Area [Mean [AZ SA? (zA)> | SD CL [cv
number | (%) (%)

(A) (A)
1
2
3
4
5)
6
7
8

Abbreviations: SD, standard deviation; CL, confidence limit (P = 0.05); CV, coefficient of variation

17
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TASK 2

SD, fite5; CL, 5.0 7KHE (P =0.05); CV, E LA

AR 8% A SCCFRGR T

E

18



EXAMINATION # 4: Ecology Laboratory TASK 2

PA.T2.7to PAT2.10 /N * A:REWTFEIE T A LATFUHITE Y e AR BEIH H 2 AR AR
* 6 PVEIR K F A RS BRIV Z Y EE(E
xR OFRHERIE ERERBKRNENE

Time Biomass of plants
(days) )

0 10

8 40.2

12 78.5

16 159.7

20 325

24

PAT2.7 /N © DIFR 6 BB (FEI (AR EIAEEGR) - DUNEAGRAES 24 REVEVIE
HREEESERLE (2 points)

PA.T2.8 /[NE © MRIETR 6 HVEUE - FIFHLLU ML AR sHEENERAES 0 RESH
8 RIVHIEH £ RHR(ROR) » M EEEASZMA L (B /NI FE=fr g™ day™)

RGR = (InW, — InW»)
(b —t)

RGR S HEM A REER ~ W, BAE t (days)IYEE E(Q), W1 /EAE t (days)AVEE E(0)

PAT2.9/NE : fRIRFR 6 (VEEE - STRFEERE(EES 12 RES 20 RAVIHE A REHR

(RGR) » W EFIEABEEME (B /B 5= gg” day™)

19



EXAMINATION # 4: Ecology Laboratory TASK 2

(1 point)
P4.T2.10 /N (e 7 SRV EHI M AT ERYE T - 5B RIS IEHE ?
| 55 8 £ 20 R ZfE > F eI A R AR
I 7£55 0 £ 20 R[] - B EHHE A KRR S5 H0E T
N FERAZEEENTE
IV ENERZZERNEE
A | only
B. Il and Il
C. Il only
D. Iland IV
E. I, Il and IV
(1 point)

20
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TASK 2

DURHY PAT2.11 to PAT2.12 /NEEHIR:
APPENDIX A ff$% A

ALl FUEIEITREE
RN A AR AN TV -

DX W Xi 0 (EUER P RS
nEEEA BB X IR

(S X, ) A X B T 5

JZX_Z i
SD = |
(n-1)

Al2  SPEERYEL/KE

tx SD s
CL = —— E[WK#E((CL)®= AR S

Hooh tR A t AR T THE YRR AN P = 0.05)#11
H HE(A)RERNE > n 2o THIAEL
(n-1). BEHEERZN0 - D).

21



EXAMINATION # 4: Ecology Laboratory TASK 2

Al3 WA HEEERNVEERRE
WA (R X RSB H ) B G A 2R UHSAE tohiteiE -

tets e st R R A E 5 IEE (X and Yi) >
PURAFIE(E (Xand Y) » ot ng Ko ng SE R BR AR A
B2 AR E Al A E AR A DARC S B 7 U T

WERFTE I tE AR T ESNAE A I EEZ IR N A B = Rss R
At 534

Al1.3.1 Unpaired samples JEACEHEZ
R AT R EEEE 20T - — AN —BEE O S — AR
Fra S ERbE: - HREAT

and

HE R t R (g% B) T - IRATHASERVERE /KRN 5 T FTE SR EARELES

Al1.3.2 Paired samples Fo¥iiE4
AR ER ARV EE  DARC B8y 7 =0 = -
R 4H BB 72 AV T LA 717 T - ISR —4HEERIZ= 2 (D)

22
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TASK 2

AILETRCFEZR(D) » FrAHBEFEtE (D -DRVREE & 0

t= D-2(D-D)

S

t E AV 7 W40 [F] A e BRC R AR R e

ST AR Al AR AT T

23
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TASK 2

Ll lid i sk

APPENDIX B
TABLE III. DISTRIBUTION OF ¢
Probability.

df g 8 7 -6 5 a4 3 .o o1 ‘0§ 032 ‘o1 001

¥ -158 v335 c510 *727 1000 1376 1'y63 3078 G314  12-706 31-Bar 63657 636:619,
2 142 -289 -445 *617 816 1061 1°386 1-886 2920 4303 6965 925 Feged
3| C137 c277 c434 584 765 -978 r2so v638 2353 3ab:  geser s84r raeaq
4 ! T134 v27r c414 369 741 947 1'Ig0 1°533 2132 #7760 3747 4604 Bibro
3 ’ *132 267 408 +359 327 ‘g0 1156 11476 27013 571 3365 4032 6869
€ ! raar v2635 c4o4 0553 718 'aob 19134 440 1943 2447 M3 FI07 505
7 i “130 263 403 *549 711 +8g6 1119 1415 1805 2365 2908 3400 sqcd
8 | v130 262 399 ‘546 706 ‘889 14108 1-307 1-860 22300 2896 3353 5041
G 129 *261 -308 543 -703 +883 1r100 1383 1833 2262 2831 Fas0 ¢ 98t
o +r29 -afio *397 "542 ‘700 ‘879 1093 1372 1-812 2238 2764 316y g5y
1r 129 200 -396 540 -+6g7 +876 1088 1-363 1706 201 2718 Frob g3z
12 128 -a39 -308 *530 695 ‘873 1083 1-356 1382 2179 2681 3oss  43rh
13 <128 -250 -394 -$538 <Gog ‘870 roj9 1350 1°77r »160 2650 Forz 423
14 | <128 -258 +303 ‘337 -Go2 868 1076 1345 1-761 143 2624 roy7  H14n
15 | *128 <258 -303 +536 -Gor ‘866 1-074 I-34T 1°753 131 20602 047 4073
16 | +128 +258 ‘392 535 690 865 1071 1°337 v 46 2°120 583 2011 4013
17 | v128 -257 +392 -534 ‘689 *863 166y 1°333 1'740 211 567 2898  3obs
18 | -r2y v257 ‘392 ‘534 688 862 10067 1330 1734 2101 2552 878 3gi1
T9 | r137 '257 -301 533 688 861 1°066 1-328 1729 2003 2530 2-86r 3883
20 | ‘127 -287.°301 "533 <687 ‘860 1'06g 1325 1°72% 2086 2528 2845 3850
2L | “T27 287 <391 532 686 ‘859 1063 1-323 1-721 rofo 2518 2831 381y
22 | 12y <256 -390 -532 686 858 1061 1321 T-917 2074 2508 2819 3702
23 | *127 -256 -390 332 683 858 robe 1319 1-714 roby 500 2807 3767
24 | c12y =256 -390 -531 685 857 1059 318 rin 7063 2492 797 3745
2 *127 +2560 +300 331 684 *856 17058 1316 1'% 2060 2485 2787 3723
26 | <137 <256 <300 -531 684 856 1088 1-315 1'706 2056 2439 2979 * 707
a7 | -127 286 389 ‘531 -684  -855 rogy 1314 rjo3 o052 473 771 3huo
a8 13y *256 -389 -530 -683 835 1056 1-313 1-j01 2048 2467 2763 3674
29 | 127 -256 -38¢ -530 -683 ‘854 1055 1311 1699 2045 2462 2736 365y
3o | =127 -256 -389 r330 -683 854 voss 130 1697  Tosz 457 2750 3646
40 | *1206 -2855 -388 <529 -68x -851 roso 1303 1-6G84 »021 2423 704 L5510
6o | ~126 354 +387 -527 -679 "848 1046 1°206 1-Gy1 000 2390 2066 3460
T20 | 3206 -254 386 526 677 ‘845 1oyr ra28¢ 146358 rofe 358 2617 3373
= | v126 r283 -385 ‘524 <674 842 1036 1°282 1645 1960 2¢326 2576 3291

24
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